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1 At present, there is no 1 Brahmins are studying how to
religion. 5 change from Brahmins into
3 You are now at the 7

confluence age. 10 Because of being , they

This is only for the cannot consider themselves to

people of Bharat, not for those be deities. 6

of other religions 9 By speaking too much, your in

You can never become a deity tellectual energy reduces.

from a human being on the path of Therefore, be shortand-_ 5
8 You understand that it is you
Only those who are born through Brahmins who become residents
the mouth of Brahma are the of .7

Brahmins . 4 You do not in this
spiritual gathering. 6
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